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Instruction: Attempt any 25 questions.
Write the Correct alternative in the Ans. Box.

Ans.
A is a person wWho sells goods to customers.
Q1. | 5) technician b) supervisor c) sales person d) vendor
Ans.
Internet banking is conducting transactions through ............... :
Q.2
a) . internet b) website c) card d). link
Ans.
Business Reports provide important information for ........... purpose.
Q.3
a) credit b) loan c) mortgage d) business
Ans.
In online marketing there is --------------- :
Q.4

a) No Exchange( | b) Exchange isthe | c)only Warranty d) Guarantee

core of Marketing




The full from of GST IS ---------------------- Ans.
Q.5
a) Good and b) Good and c) General sales d) Government
supply Tax services tax Tax sales tax
Ans.
RTGS stands for ---------------------
Q. 6. | a) Real time gross | b) Nation c) Automated teller | d)None of these
settlement Electronic fund machine
Transfer
Telebanking is Ans.
a) putting your | b)) sending c¢) banking d) use of mobile
@7 bank in your telegram to the | carried over ATM for
phone bank computer banking.
network.
Ans.
1) A business letter from a bank to consumer should be on
Q.8. |a)ina b) ) a plain c) a coloured d) the d)
newspaper. paper paper letterhead of
the bank
Q.9 Ans.




1) For getting the statement of account, the customer shall apply

to
a) the State b) the Reserve c) ) the bank d) the Bank of
Bank of India Bank manager India
Ans.
1) A business report usually begins with
@10 a) Title and b) time and ¢) Summary d) Salutation
Date place
Ans.
1) Recommendations are made on the basis of ina
Q. 11. business report.
a) committee b) findings c) location d)None of these
members
1) Funds charged to a debit card are directly deducted from Ans.
a) the bank b) the bank c) the Reserve d) For getting
Q12 account of the | account of the | Bank account the statement
concerned bank manager of account, the
customer customer shall
apply to
Ans.

Q. 13.

1) Sales and services department is directly connected to




a)production

b) workers

c) consumer

d) government

Ans.
1) Sales is basically a activity.
Q. 14.
a)communicati | b) religious c) ritualistic d) personal
ve
Ans.
Institute that accepts deposits and lends money is ...........
Q. 15.
a)custody b)office c) . treasury d) . bank
Ans.
SainaNehwal belongs to ............... :
Q. 16.
a) . India b) Nepal c)Pakistan d)America
Ans.
Gopal belongs to ............ town.
Q.17. | a). Mumbai b)Jajau c)Delhi d) Agartala
Gopal is going to Ans.

Q. 18.

.........




a) Chicago

b). New Jersey

c) New York

d) Manhattan

Ans.
The theme of the poem “No men are Foreign” is --------------
Q.19.
a) ) universal b) uniforms c) Foreign d) War
brotherhood Countries
Ans.
The Talkative Man was caming at----------------
Q.20.
a)Koppal b) Konnur c)Gir d)Burma
The accountant son died of ----------- Ans.
Q. 21. _ _
a)Strife b)Violence c) Accident d) Sickness
Ans.
. The talkative man saw the tiger--------------
Q. 22. . — —— . .
a) In his dream b) in his way c) during his d) ) in the jungle
journey
Ans.
By hating our brothers we punish
Q.23 a) Our enemies | b)Our neighbours | ¢) Qurselves d) Our critics
1) was the centre of civilization at Koppal. Ans.

Q. 24.




a) The railway | b) The bus ¢) The church d)The temple
station Station
Ans.
The man attacked the tiger with -----------
Q. 25.
a) the gun b) The knife c) the log stick d) the spear
Ans.
The poem The Accountant’s House is written by ...........
Q. 26. - — -
a) . Vikram Seth | b) A. K. c)Kamla Das d) DilipChitre
Ramanujan
Ans.
. Gopal strictly eats ............ food in restaurants.
Q. 27. _ _
a)both b) dry fruits c) . vegetarian d)non vegetarian
Ans.
SainaNehwal isa ............. player.
Q. 28.
a) Kabaddi b)Badminton c)Cricket d)Hockey
Ans.
. Really these Americans are too.............. .
Q. 29.
a) developed b) backward c)advanced d) slow
Ans.
The Mancut ............... claws of the tiger.
Q. 30.
a)four b)three c)two d)five
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